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mgN/100gdry

0 20cm 20 40cm
3.7 2.1 5.2 3.2 1.2 1.9
3.2 2.5 4.8 3.2 1.3 2.4
1.2 0.8 0.9 0.9 0.9 0.7
3.0 1.4 5.6 3.6 0.1 1.9
2.4 1.8 4.3 2.3 0.5 1.2
0.8 0.8 1.5 1.2 0.3 0.8
1.5 0.4 1.9 1.7 0.0 1.2
1.0 2.0 3.7 1.3 1.6 2.7
1.1 2.7 3.0 1.2 1.2 1.2
1.2 2.9 2.4 0.7 1.6 0.9
2.2 2.6 6.3 1.8 1.3 1.6
kg/10a
1000L/10a
0.5M
30 28
7.0 4
—_ 0 20cm ®
S 6.0
S © 20 40cm & A
¢ ) =11 §’ 5.0 |
N~ 4.0 F y =1.0x - 0.2
+ 3. i -
&
2.0 1 ® -0y = 0.5x + 0.2
20cm 0.771  0.520 0.829 %
1. B @"0‘&-0
20 40cm 0.585  0.300 0.748 0. —
0.0 1.0 2.0 3.0 4.0 50 6.0 7.0
1% (mg/100g
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